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In Exercises 5766, find a polynomial of degree n that has
the given zerols). (There are many correct answers.)

Zerots)

66. 1= -3,1.5.6
67-80. See margin.
In Exercises 67-80, sketch the graph of the function by (a)
applying the Leading Coefficient Test, (b) inding the zeros
of the polynomial, c) plotting suficient solution points,
and (d) drawing a continuous curve through the points.

7. ) =20 = 9x 68, g = x* — 4

TSl = 3t~ 152% + 18
A J() = —4 + 42 4 150
5. /)
TS = i = 4)
. 50 = 4 =
0. 5(0) = jola
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afactor (x — k) if and only if £(K) = 0.
divided by x ~ k, the remainder is = f(K). remainder
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In Exercises 19-36, use synthetic division to divide.
19 (3 — 1702 + 15x - 25) + (x — 537 — 20 +
20, (5% + 18 + Tx - 6) + (v 4 3)
20 (@ - 95+ 82~ 18) = (x +2)
22, (98~ 16x — 18 +32) + (x — 2) 9 16
23, (—& + 75x — 250) + (x + 10) ;\'W 10x - 2





